ST/ 7S

B MEDIUM STRENGTH THREAD LOCKER
GREASE



POLSYSAGDON S TICAT 775

Torque
Article code| Part # ltem Item Details 9 Qty/ Sold
(N.m) | Frame
736770 1 FD CABLE STOPPER AL 6061 - L AS A SET
NYLON TUBE - 1
2 M5x0.8, L16, HEX3 5 2
736714 3 FD MOUNT SET ALGOG1 - 1 AS A SET
736710 4 Di2 CABLE HOLE PLUG RUBBER d12x10 - 1 PER PIECE
5 AL6061 - 1
738309001 6 SEAT CLAMP SET M5x0.8, L28, HEX4 8 1 AS A SET
7 AL7075 - 1
DROP OUT DIRECT ATTACH | IS17PFK23 DROPOUT NUT FOR
735772 8 3 1 AS A SET
SET IS17PHGO03 W/BOLT, HEX2.5
736718 n/a FRONT THRU AXLE M12x1.5, L120, T20mm, HEX6 15 1 PER PIECE
736716 n/a REAR THRU AXLE M12x1.5, L171, T20mm, HEX6 10 1 PER PIECE
736717 n/a THRU AXLE LEVER SLO1 19.4x70.4x26.3 HEX6 - 1 PER PIECE




LEGEND

Front Brake Hose
Rear Brake Hose

FD Cable
RD Cable

RV I/ AV I i



POLYEON

S-Box Headset
Semi-Integrated Cable Routing System

Frame:

1S52 /1852, 1.5” Integrated Head Tube
ZS56 / ZS56, 1.5” Internal Head Tube
2S56 / 2S66, 1.5”-1.8" Internal Head Tube

Cable Seal
4mm[5mm
or Plug

by Order

Headset Top Cover

Top Cover Seal

Micro Spacer

Star Compression Ring

Double Seals
Premium Bearing
45

Upper / Lower Cup
IS orEC type
by Order

Double Seals
Premium Bearing
45" 0r 36°

by Order

Crown Race
45 0r 36°
by Order

Installation Video for Cable Box.

S/ 75

Bar & Stem: Standard
Fork: Molded with Hole for Front Braking Cable

Excellent Water Seal Performance
Water Seals Inserted into the Cable Holes
3 types of seals for 4mm, 5mm cables or just plug by order




Cable Box Installation Guide

Step1.

Assemble the headset, stem, spacer and fork to the frame,
note that the 45°chamfer on the bearing outer race should
be placed toward the headtube.

Maximum spacer stacking height is 40mm.

Mark the top of the stem on the steerer, then mark a second
line 3mm below it - this is the cutting line for later.

Step2.

Remove the fork from the frame and cut the steerer tube to
the marked length.

Clean up any residual burr on the steerer tube.

Step3.

Feed the front brake line into the exit hole on the fork leg and
route it through the fork.

Pull the brake line from the other end until the caliper end
reach its final position.

The fork is ready for now, but do not assemble it back to the
frame yet.

Step4.

Feed the shifting cable housings from the exit holes (near
where the derailleurs attached to the frame) into the frame,
route them through the down tube, and then exit from the
top of the head tube.

Repeat the same process for the rear brake line.

Step5.

Pull the housings / brake line from the headtube until the
other end reach their final position (attach to the derailleurs
/ caliper, or cable guide).

Stepb6.

Insert the fork into the frame with the lower headset bearing
assembled.

Then, mark the top of the headtube on all shifting cable
housing and brake lines.

O

@&

.

Step7.

Add “cockpit length” to complete the length measurement
and mark it on each of the housings / brake lines - this is the
cutting mark.

Cockpit length includes the following two parts (a+b) -
a. Stem length

b. Extra housing length needed to complete routing as
shown in the chart below.

Road HB Width

(C-to-C measured from | 36cm | 38cm | 40cm | 42cm | 44cm
shifter clamping area)

Extra Housing
Length

32cm|33cm| 34cm|35cm| 36cm

Cable Box Installation Guide

Step8.

Route the shifting cable housings and rear brake lines
through one headset bearing and the headset top cover
(with a water seal on it).

Each cable hole on the headset top cover holds one shifting
housing (4mm) and one brake line (5mm).

Starting from the far left, they should be arranged as: rear
shifting, rear brake, front brake and front shifting.

Shifting housings are placed at outer left and outer right to
avoid tight turns which could degrade shifting performance.

Make sure all housings / brake line pass through headset top
cover and the bearing!

Step9.

Install the compression ring of the headset.

The compression ring should be placed between the
headset top cover and the upper bearing.

Note that the “F mark” on it should be placed towards the
front of the bike and all housings should be placed into the
correct recess correspond to the two holes of the top cover.

When passing the steerer tube through the headtube,
housings hold by the left hole of the headset top cover
should be kept on the same (left) side of the steerer tube, and
vice versa.

S/ 75

Step10.

Route the cable housings and brake lines through the stem
and the handlebar.

Shifting housings / brake lines should be arranged as two
groups when entering the center hole of the handlebar -
upper group and lower group.

Each group should contain one shifting housing and one
brake line, and should be connected to the same shifter
later.

Some stems and handlebars have sharp edge around the
cable holes.
Be careful when routing housings / brake lines through them.

Using cable routing tool kit such as Parktool IR-1 could make
the task easier.

Step11.

Complete the installation of the headset, handlebar, stem
and spacers.

A headset expander is usually needed here. Turn the
handlebar left and right a few times to check if there's any
restriction caused by housings / brake lines,

Step12.

Install the shifters to the preferred position on the
handlebar, then check carefully if the cutting marks on each
of the housings / brake lines is valid. Modify the position of
the cutting mark slightly if needed.

Step13.

When all is checked and set, cut the shifting housings and
brake lines, then move on to the installation and adjustment
of derailleurs and brakes.

For more information on SHIMANO components, please refer to :
https://www.tokenproducts.com/headsets/cable-box/s-box



